

Today our goal is to prove the following theorem of [K0, AL] about convergence of RW in local spectral expanses.

Thm [K0, AL] [Convergence of RW in local spectral expanses]

If X is a dim d s.c. $(\delta_1, \delta_0, \dots, \delta_{k-2})$ -local spectral expander

$\delta_i := \max_{-1 \leq i \leq k-2} \{ \lambda_{i+1} := \lambda_2(X_Z(\delta), X_Z(\delta)) \}$ - [second e.v. of the 1-steps of the link of Z]
 [in δ -local spec exp $\delta_i \leq \delta$ for all i]

$\lambda_2(M_{k-1}^T) = \lambda_2(M_k^-) = 1 - \frac{1}{k+1} \prod_{i=1}^{k-1} (1 - \delta_i)$

M_{k-1}^T, M_k^- have same non zero eigenvalues, including multiplicities, always true for $AA^T, A^T A$ operators.

$M_{k-1}^T = \begin{matrix} \text{---} \\ \text{---} \\ \text{---} \end{matrix}$, $M_k^- = \begin{matrix} \text{---} \\ \text{---} \\ \text{---} \end{matrix}$, $d_{k-1}^* d_{k-1}$, $d_{k-1} d_{k-1}^*$
 $\langle d_{k-1} F, G \rangle = \langle F, d_{k-1}^* G \rangle$ $\langle d_{k-1} F, G \rangle = \langle F, d_{k-1}^* G \rangle$
 $(d_{k-1})^+ = d_{k-1}^*$

Today: main steps based on new analysis based on work with Roy Gotlib

Recall

$d_k: C^k \rightarrow C^{k+1}$ $d_k F(\delta) = \int_{Z \subseteq X(\delta)} [F(Z)] E[F(Z) | Z \subseteq \delta] = \sum_{Z \in \binom{X(\delta)}{k+1}} \frac{w(Z)}{k+1} \cdot \frac{1}{w(Z)} F(Z) = \sum_{Z \in \binom{X(\delta)}{k+1}} \frac{1}{k+1} F(Z)$
 $d_k^x: C^{k+1} \rightarrow C^k$ $d_k^x F(Z) = E[F(Z) | Z \subseteq \delta] = \sum_{Z \in X(\delta)} w_Z(\delta) F(Z) = E_{\delta \in X_Z(\delta)} [F_Z(\delta)]$
 $M_{k-1}^+ = d_{k-1}^x d_{k-1}$ $M_k^- = d_{k-1} d_{k-1}^+$

circled 10
 think one
 - goes up
 - goes down
 ? should be δ ?

Lemma $M_k^+ = \frac{k+1}{k+2} M_{k+1}^+ - \frac{1}{k+2} I = (M^+)^k$ $M_k^T = \frac{k+1}{k+2} (M^+)^k + I = M_k^+ = \frac{k+1}{k+2} (M^+)^k - \frac{1}{k+2} I$
 non lazy version of M_k^+ no lazy version of M_k^+

Localization

Let $\delta \in X(\delta)$ $F \in C^k(X, R)$ $F_\delta(Z) := F(Z \cup \delta)$ $F_\delta \in C^{k-1}(X_\delta, R)$
 example for $F \in C^1(X, R)$ $F_\delta \in C^0(X_\delta, R)$ $F_\delta(Z) = F(Z \cup \delta)$

Def-localization Lemma

$G, F \in C^k(X, R)$
 (1) $\langle F, G \rangle = E_{\delta \in X(\delta)} \langle F_\delta, G_\delta \rangle$
 (2) $\langle (M^+)^k F, F \rangle = E_{\delta \in X(\delta)} \langle (M^+)^k_{u \rightarrow v} F_u, F_v \rangle$ $(M^+)^k_{u \rightarrow v}$ non lazy $k-1$ up down walk in the link of v .

i-level co-chains

$F \in C^k(X, R)$ is an i-level cochain if localization:
 $F \in \text{Ker}(d_{i-1}^+, \dots, d_{i-1}^*) \Leftrightarrow \forall \delta \in X(\delta) \langle F_\delta, \delta \rangle_\delta = 0$, note if F is an i -level cochain of $\text{Ker}(d_{i-1}^+)$ it is also $i-1$ -level-cochain.
 $F \in C^k(X, R)$ is a proper i-level-cochain if $F \in \text{Ker}(d_{i-1}^+, \dots, d_{i-1}^*) \cap \text{Im}(d_{i-1}^+, \dots, d_i)$
 for every $F \in C^k(X, R)$ there exist a decomposition $F = \sum_{i=0}^k F_i$ where F_i are proper level co-chains
 F_i are proper level co-chains
 F_i are span non F_j of δ
 for δ consist all F_i for $i \leq k$

non-lazy version of M_k^+

Decomposition Thm

Let $F \in C^k(X, R)$ $F = \sum_{i=0}^k F_i$ s.t. $F_i \in C_i^k(X, R)$
 $\delta_i = \text{Ker}(d_i^+) := \max_{\delta \in X(\delta)} \{ \lambda_2(X_\delta) \}$ $-1 \leq i \leq k-1$ then
 $\langle (M^+)^k F, F \rangle \leq \sum_{i=0}^k \lambda_{\delta_i} \|F\|^2 + \sum_{i \neq j} c_{ij} \langle F_i, F_j \rangle$
 where $\lambda_{\delta_i} = 1 - \frac{1}{k+1+i} \prod_{j=1}^{k-1} (1 - \delta_j)$

$\lambda_2(M_k^+) = 1 - \frac{1}{k+1} \prod_{j=1}^{k-1} (1 - \delta_j)$

Claim: Decomposition Thm \Rightarrow RW Thm.

choose F_i to be proper level co-chain of level i $F_i \in C_i^k(X, R)$ $\langle F_i, F_j \rangle = 0$
 For $i \neq j$ this implies $\lambda_2((M^+)^k) \leq 1 - \frac{1}{k+1} \prod_{j=1}^{k-1} (1 - \delta_j)$ by Lemma (1) $\lambda_2(M_{k-1}^+) = \lambda_2(M_k^+) = 1 - \frac{1}{k+1} \prod_{j=1}^{k-1} (1 - \delta_j)$

Thus, in order to prove random walk Thm, we need to prove the decomposition theorem.
 The proof will be based on induction.

For $k=0$ this is reduced to usual expansion (subtree $\mathcal{X}(i)$)

$$F \in C^0(X, \mathbb{R}) \quad \langle (M)_0^+ F, F \rangle \leq \lambda_{0,0} \|F\|^2$$

$$\lambda_{0,0} = 1$$

expansion of the link of the empty set underlying expansion in the complete graph.

towards proof by induction let perform following Defs:

$$f_{v,j} = \max_{\mathcal{X}_v(i)} \lambda_j = \lambda_j(\mathcal{X}_{v,i}) = \lambda_j(\mathcal{X}_{v,i}) \quad \lambda_j(\mathcal{X}_{v,i})$$

$$\lambda_{v,i-1,k-1} = 1 - \frac{1}{k} \prod_{j=i-1}^{(k-1)-1} (1 - \gamma_{v,j}) = 1 - \frac{1}{k} \prod_{j=i-1}^{k-2} (1 - \gamma_{v,j})$$

$$\lambda_{v,i,k} = 1 - \frac{1}{k+1} \prod_{j=i-1}^k (1 - \gamma_{v,j}) = 1 - \frac{1}{k+1} \prod_{j=i-1}^k (1 - \gamma_{v,j})$$

$$\lambda_{v,i,k} = \max_{\mathcal{X}_v(i)} \lambda_{v,i-1,k-1} \leq 1 - \frac{1}{k+1} \prod_{j=i-1}^k (1 - \gamma_{v,j}) \leq \lambda_{v,i,k} \quad \text{so}$$

$$\langle (M)_k^+ F, F \rangle = E_{v \in X(0)} \langle (M)_{k+1,v}^+ F_v, F_v \rangle$$

$$= E_{v \in X(0)} \langle (M)_{k+1,v}^+ F_v^{\perp}, F_v^{\perp} \rangle + E_{v \in X(0)} \langle (M)_{k+1,v}^+ F_v^{\parallel}, F_v^{\parallel} \rangle$$

by orthogonality between $F_v^{\parallel}, F_v^{\perp}$

$$\lambda_{v,i,k} = 1 - \frac{1}{k-i+1} \prod_{j=i-1}^{k-1} (1 - \gamma_{v,j})$$

$$\gamma_{v,j} = \max \{ \lambda_j(\mathcal{X}_v(i)) \mid i \in \mathcal{X}_v(j) \}$$

$$\gamma_j = \max \{ \lambda_j(\mathcal{X}_i) \mid i \in \mathcal{X}(j) \}$$

$$\lambda_{v,i-1,k-1} = 1 - \frac{1}{k-i+1} \prod_{j=i-2}^{k-2} (1 - \gamma_{v,j})$$

$$\lambda_{v,i} = 1 - \frac{1}{k-i} \prod_{j=i-1}^{k-1} (1 - \gamma_{v,j})$$

$$\lambda_{v,i-1} \leq \lambda_{v,i} \quad \textcircled{a}$$

$$\lambda_{v,i,k} \leq \lambda_{v,i} \quad \textcircled{b}$$

$$\max_{v} \{ \lambda_{v,i-1,k-1} \} \leq \lambda_{v,i}$$

$$\lambda_{v,i,k} \leq \lambda_{v,i} \quad F_v^{\perp} \quad \text{proj of } F_v \text{ to part orthogonal to constants}$$

$$\lambda_{v,i,k} \leq \lambda_{v,i} \quad F_v^{\parallel} \quad \text{proj of } F_v \text{ to constants, part}$$

We want to estimate \textcircled{a} & \textcircled{b}

We want to study \textcircled{b} by applying induction hypothesis.

We need to find define for F_v^{\perp} level functions s.t $F_v^{\perp} = \sum_{i=0}^{k-1} F_{v,i}$ $F_{v,i}$ is an i level function.
 $F_{v,i} \in C_{i,v}^{k-1}(X_v, \mathbb{R})$

$$F_v = \left(\sum_{i=0}^k F_v^i \right)^{\perp}$$

$$F_v^{\perp} = \sum_{i=1}^k F_v^i + F_v^{0\perp}$$

$$F_v^{\parallel} = F_v^{0\parallel}$$

the contribution for F_v^i $i \geq 1$ is clearly orthogonal to constants.

Define $F_{v,i} := F_v^{i\perp}$ if $i \geq 1$ $F_{v,i} = F_v^i + F_v^{0\perp}$ $i=0$.

$$\textcircled{b} \leq E_{v \in X(0)} \left[\sum_{i=0}^{k-1} \lambda_{v,i} \|F_{v,i}\|^2 + \text{mixed term contributions} \right]$$

Note even if F_v^i 's are orthogonal $F_{v,i}$'s are not such!

$$\leq \sum_{i=1}^k \lambda_{v,i+1} \|F_v^{i\perp}\|^2 + E_v \left[\lambda_{v,0} \|F_v^0 + F_v^{0\perp}\|^2 + MT \right] \leq \sum_{i=1}^k \lambda_{v,i} \|F_v^i\|^2 + E_v \left[\lambda_{v,0} \|F_v^{0\perp}\|^2 + MT \right]$$

$$\text{localization } E_v \langle F_v^{i\perp}, F_v^{i\perp} \rangle = \langle F_v^{i\perp}, F_v^{i\perp} \rangle = \|F_v^{i\perp}\|^2 = \sum_{i=1}^k \lambda_{v,i} \|F_v^i\|^2 + E_v \left[\lambda_{v,0} (\|F_v^{0\perp}\|^2 - \|F_v^{0\parallel}\|^2) + MT \right]$$

$$\textcircled{b} = \sum_{i=1}^k \lambda_{v,i} \|F_v^i\|^2 + \lambda_{v,0} \|F_v^{0\perp}\|^2 - \lambda_{v,0} \|F_v^{0\parallel}\|^2 + E_v \left[\lambda_{v,0} \|F_v^{0\perp}\|^2 + MT \right]$$

$$\textcircled{a} \quad F_v^{0\parallel} = d_0^* \left(d_0^* F_v^0(v) \right) = \left(d_0^* \dots d_{k-1}^* F^0 \right) (v) \quad d_0^* \dots d_{k-1}^* F^0(v)$$

$$\textcircled{b} = E_v \langle (M)_{k,v}^+ F_v^{0\parallel}, F_v^{0\parallel} \rangle = E_v \langle F_v^{0\parallel}, F_v^{0\parallel} \rangle = E_v \langle d_0^* \dots d_{k-1}^* F^0(v), d_0^* \dots d_{k-1}^* F^0(v) \rangle$$

$$\textcircled{a} = \|d_0^* \dots d_{k-1}^* F^0\|^2 = \|M_{k,v}^{0\parallel}\| E_v \|F_v^{0\parallel}\|^2$$

$$\textcircled{a} + \textcircled{b} \text{ implies } \langle (M)_k^+ F, F \rangle \leq \sum_{i=1}^k \lambda_{v,i} \|F_v^i\|^2 + \lambda_{v,0} \|F_v^{0\perp}\|^2 + (1 - \lambda_{v,0}) E_v \left[\|F_v^{0\parallel}\|^2 + MT \right] \leq \sum_{i=0}^k \lambda_{v,i} \|F_v^i\|^2 + MT$$

$$\textcircled{5} \quad \lambda_{v,1} \|F_v^1\|^2 + (1 - \lambda_{v,1}) E_v \|F_v^{0\parallel}\|^2 \leq \lambda_{v,0} \|F_v^0\|^2$$

$$\lambda_{v,1} \leq \lambda_{v,0}$$

and $\lambda_{v,0} \leq 1$

So we have reduced the understanding of the RW Thm (and of the decomposition theorem) to understanding whether the equation (5) over F^0 holds. (6)

So we have reduced it to find enough expansion on F^0 .

Lemma 6 (The advantage lemma) $E_V \|F_V^{01}\|^2 \leq (1 - \frac{k}{k+1} (1-\delta^{-1})) \|F^0\|^2$

Let's first see why given lemma (6) equation (5) follows.

Need to show

$$\lambda_{\mathcal{B}, \eta^k} + (1 - \lambda_{\mathcal{B}, \eta^k}) (1 - \frac{k}{k+1} (1-\delta^{-1})) \leq \lambda_{\mathcal{B}, 0}$$

$$\lambda_{\mathcal{B}, \eta^k} (1 - \frac{k}{k+1} (1-\delta^{-1})) + \lambda_{\mathcal{B}, \eta^k} \frac{k}{k+1} (1-\delta^{-1})$$

$$= 1 - \frac{k}{k+1} (1-\delta^{-1}) + \frac{k}{k+1} (1-\delta^{-1}) (1 - \frac{1}{k} \sum_{j=0}^{k-1} (1-\delta^{-j})) = 1 - \frac{1}{k+1} \sum_{j=2}^{k+1} (1-\delta^{-j}) = \lambda_{\mathcal{B}, 0} \quad \text{as required.}$$

if $\lambda_{\mathcal{B}, \eta^k}$ is proved using the following Lemma.

Lemma 7: For $F^0 \in C^k(X, \mathbb{R})$ $F^0 \in \text{Im}(d_{k-1} \dots d_0) \cap \text{Ker}(d_{-1}^*)$

i.e. F^0 is a proper 0-level co-chain for such function there exist

$$F^0 \in C^0(X, \mathbb{R}) \quad \text{st} \quad \begin{aligned} a \quad & d_{-1} F^0 = 0 \\ b \quad & \|F^0\|^2 = \|F^{=0}\|^2 \\ c \quad & \|d_0^* F^0\|^2 = \|d_{k-1} \dots d_0 F^0\|^2 \end{aligned}$$

$$E_V \|F_V^{01}\|^2 = \|d_0^* \dots d_{k-1}^* F^0\|^2 = \|d_{k-1} \dots d_0 F^0\|^2 = \langle M_0^{+k} F^0, F^0 \rangle$$

Lemma 8 $M_0^{+k} = \frac{k}{k+1} (M_0^{+k})^T + \frac{1}{k} I$

$$(M_0^{+k})^T = \frac{k+1}{k} M_0^{+k} - \frac{1}{k} I$$

$$= \langle (\frac{k}{k+1} (M_0^{+k})^T + \frac{1}{k+1} I) F^0, F^0 \rangle \leq (\delta^{-1} \frac{k}{k+1} + \frac{1}{k+1}) \|F^0\|^2 = (1 - \frac{k}{k+1} + \delta^{-1} \frac{k}{k+1}) \|F^0\|^2$$

$$= (1 - \frac{k}{k+1} (1-\delta^{-1})) \|F^0\|^2 \quad \text{so lemma 7 holds } \Rightarrow (6) \Rightarrow (5) \Rightarrow \text{decomposition Thm} \Rightarrow \text{RW- Thm.}$$

$$F_V^{01} = d_{-1}^* \dots d_{k-2}^* F_V^0(\emptyset) = d_0^* \dots d_{k-1}^* F^0(V)$$

$$E_V \|F_V^{01}\|^2 = \|d_0^* \dots d_{k-1}^* F^0\|^2$$